! ~ Spring Break Extra Credit MC (Non-Calculators)

Part 1 (30 Questions, 60 mins)

(Show work on test. Make corrections in different color ink (or use highlighter)
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>} Find the average value of f(x) bn the interval
[~1, 4] in the figure shown.
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7} An object moving in a straight line has j (f> :jV(f)}{ ﬂ ('2) =3
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The fonetion f is continuous on'the closed interval [2, 13] and has values as shown in the table above, Using
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The data for the acceleration a(f) of a car from 0 to 6 seconds are given in the %able above, If the
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The graph of f, the derivative of f, is shown above for <2 5 x £ 5, On what intervalsis f increasing?

(A} [-2.1] only ‘F )(y) / /‘ \(

CEE ]
) T L] ! )
€y [3,5] onty ~3_ I3 5

(D) [0,1.5] and [3, 3]
(B [=2 =1, [1,2], and {4, %]

£ () o N jotorn]
2,0 (1,3)

4 -.;3 )




28)

If %=(1~a~31m3 y andify=1whenx=1.theny= pt
L sgpoton o veiths | Ph= 11 @"ih r
;3 ) w=thx fo’v: X
A e’ ;’.ji;{_:(/w.x)j Blyf= xoexleexct oz © 2
| (B) 1l+hnx = xhx+C -
= PR, e (oo e d Ynm xl;:—* | =uv va:AJ |
’sz Inx-2 ] J 6W3l=6“-6c ; :xfnx-fx-; "
y gix+xlax-2 _ ;-
XX dﬁ - (H/&OJK lj’: CCX%XSFAH I:Xﬂx—x tC
‘ J R L
[=C Y=

]

" s/ x R
_Q'MQ At %i_—t—'-“? Yézp min

on X=3 A d e

éﬂ the triangle shown above, if 8 increases at a constant rate of 3 radians per minute, at what rate is
¥ increasing in units per minute when x equals 3 units?

(A) 3 ® L oo - o 9 @( 12
g Rode ks | S s [ e
I Tk |ee):3(5) | 4 ’ dg =
GinG = 7 = 3% “ Y /5(4 %
J@- __’ d . Q :0—01 S ':i Itb ? -
Cosé(ﬁ)_?(ﬁ) 5308 =% CosO= % ) ‘

30)

[ B' (,x,..“iﬁ
i w X
n

o 260 —8e 46
(€) 3e '
2
'S‘rﬂ'\{l{)
2 Z-L
0 = E_ -+ !._ ~ € '
. 2 L 2




Spring Break Extra Credit MC (Calculator Active)

Part 2(15 Questions, 45 mins)

(Show work on test. Make corrections in different color ink (or use highlighter)

Calculator section
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Let f be the fonction given by f(x) = 3¢** and let g be the function given by g(x)= 6x°. At what

value of x do the graphs of f and g have parallel tangent lines?
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(o172 < x < 2507

The first derivative of the function £ is defiped by f'(x) = sin ,(,x:" - J.’) for 0 £ x<2 On whm intervals
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Let g be the function given by gu; = _{ sm{ z)df for -1 £ x £ 3. On which of the foliowing mtervas 1s g
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is f increasing?

(A) 1€ x51.445 only

(B)| 1£x<1.691

(C) 1.445< x £ 1.875

(D) 0.577 5 x €£1.445 and 1.875 <
(E) 0£x<1 and 1.691 £ x <2
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The pleymm&i function £ has selected values of its. second detivative £ given in the table above,
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Which of the following statements must be troae’ " po s< L < £ [x) jmfl‘ .

(A) £ is increasing on the interval {0, 2).

[B) £ is decrensing on the interval (0, 2).

() 7 has a Jocal paximum at x = |

(D} The graph of f has a point of inflection at x = 1.
(E)| The graph of £ changes concavity in the interval {0, 2}.
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Graph ot f"

%e TR f%ﬁﬁ;m -f 1% showm inthe figure above. The graph has horisontal tungent lines
atx==-l x=1 and x =3 Atwhich ofihe following values of x does £ have a relative ntal unge

{A) ~2 only (B 10:&157 C) (4 only (D} ~1 and 3 only (B) -2, 1, and4
| )
‘F{)O j‘, i S Ref max «7(' X=l <Since -F
’7 v L h-j'—_" 0&(4‘ 2( " * fb g |
S s

| A

fwy 7\
SN
R

AN

about § 7

() fisdecreasing for -1 2 2 51 X

B/ isincreasing for -2 < x 2 0. vV
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In the graph shown, at which point is % >0
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If f()=\T+% and £0)=05, then f(4)=

@ (A) 7.562 (B) 8.062 (C) 12.871 @13 371 (E) 17.871 Uy
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If the region enclosed by the y-axis and the graph of x=4- y* is revolved about
the y-axis, the volume of the solid generated is
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